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BEHAN

BT T % 4 EEHE | & & 5 T 15 R | 15~64%% | 658 L. L
2 %% | 103,086 305,601 | 154,743 | 150,858 | 56,810| 226,619 22,172
=1 & 769 2,665| 1,359 1,306 606 1,893 166
A I 1,852| 6,057 3,058 2,999 1,254 4,413 390
= 5] 1,931 6,005 3,040 2,965 1,079 4,515 411
% B M 2,638 7,440 3,707 3,733 1,358 5,445 637
3] 2,199 6,663 3,353 3,310 1,284 4,901 478

il T 104 104 0 104 0 104 0
2 P Z= 4,739 | 13,839 7,143 6,696 2,480 | 10,314 1,045
B M — T H 334 721 387 334 105 559 57
M WM = T B8 181 389 213 176 56 307 26
ic] T B 56 159 81 78 19 107 33
m — T H 221 454 239 215 49 357 48
M = T H 534 1,283 624 659 193 956 134
M ™ T H 210 422 225 197 49 323 50
m ®H T H 284 691 347 344 101 512 78
M AX T H 444| 1,110 587 523 190 814 106
M & T B 431 1,004 539 465 114 -~ 774 116
4 E iy 521 1,222 647 575 188 913 121
% = 450 1,110 573 537 151 845 114
B A X 395 1,081 536 545 183 783 115
o5 % il 367 1,077 538 539 192 771 114
A & BT 501 1,213 648 565 166 953 94
® — T H 385 946 467 479 140 674 132
® — T H 377 913 450 463 138 662 113
® = T H 407 1,081 541 540 147 802 132
X B iy 450 1,164 618 546 191 853 120
+ KB — T H 413 1,151 559 592 243 811 97
F R B =T H 477 1,255 631 624 249 866 140
T+ R B =T H 428 1,351 685 666 338 879 134
B8 B Ry 310 860 449 411 130 645 85
» H»  h  H 1,138 | 3,212 1,652 1,560 593 2,404 215
Hh P Hy 400 965 508 457 212 700 53
o — T H 352 908 455 453 147 648 113
B — T H 560 1,362 731 631 258 1,003 101
R Yy 436 961 470 120 714 127
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i T %= 4 HEE | & 5 £y 158K % | 15~641% | 658 L 1
= i iy 334 834 404 430 106 | 584 144
=3 i r 540 1,413 700 713 165 984 264
L6 S % S/ B/ 441 1,050 583 467 166 793 91
H E =) 851| 2,480| 1,258| 1,222 378 1,884 218
E B — T H 314 933 466 467 173 684 76
¥ B — T H 377 994 505 489 199 751 44
¥ B = T H 285 866 450 416 228 585 53
S IR Hy 213 454 243 211 45 324 85
B B — T H 308 710 359 351 83 536 91
v B — T H 412 1,042 525 517 171 770 101
B T = T H 112 274 144 130 39 199 36
y A 1" R R = 596 1,346 737 609 182 1,003 161
e ® A T H 379 964 492 472 185 724 55
B OET X T H 684 1,916 1,004 912 457 1,392 67
B OB & T H 280 779 408 371 162 561 56
B B A T B 459 1,314 681 633 249 983 82
T EDO—TBH 328 801 402 399 155 574 72
b E O _=-TH 508 1,345 657 688 235 1,020 90
P EDO=T8H 481 1,198 589 609 173 894 131
BT EDOW™THE 450 1,093 544 549 145 818 130
>0 EDOAETEH 218 653 311 342 107 494 52
W KR’ — T H 365 787 413 374 115 621 51
B — T H 425 1,067 551 516 233 735 99
WK = T H 778 1,766 926 840 247 1,375 144
MR ™ T B 463 866 522 344 117 699 50
& & iy 744 2,816 1,444 1,372 955 1,823 38
BHM™MEAE—TH 1,087 3,031 1,470 1,561 484 2,339 208
EmMEFARA_-TEH 937 2,111 1,071 1,040 319 1,632 160
BEELE=TH 1,216 2,876 1,425 1,451 423 2,231 222
BHMESMT A 1,406 | 4,135 2,038 2,097 688| 3,186 261
» o o 139 355 179 176 44 286 25
i 1] 685 1,639 889 750 250 1,270 119
B B A T H 369 1,009 506 503 128 814 67
B B & =7 H 201 548 278 270 102 409 37
H 3 & T H 63 209 109 100 81 126 2
B XX & Z=TH 218 403 258 145 26 348 29
& B R 218 663 335 328 122 488 53
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T T F 4 HHE | B % E°S 158 A M | 15~645% | 658 LA b
¥ E B — T H 333 870 466 404 94 686 90
E W = T H 437 1,380 719 661 278 1,010 92
=T T H 103 253 139 114 60 180 13
@ W =— T H 354 908 511 397 214 662 32
# * ix) 528 1,605 817 788 288 1,239 78
& I 1) 133 390 209 181 75 290 25
B oM T B 337 1,067 526 541 167 816 84
B oM -~ T B 222 721 352 369 162 507 52
1t B I 2,901 9,843 4,935 4,908 2,128 7,004 711
X - 1,608 5,615 2,860 2,755 1,518 3,749 348
= % 689 2,042 1,084 958 381 1,526 135
i H = 171 370 222 148 65 273 32
7N H H 146 376 207 169 48 291 37
ik} = 447 1,599 851 748 298 1,098 203
#7 B w5 % 35 96 57 39 16 75 5
X i H 309 1,190 607 583 227 809 154
+ Az - 1,834 5,535 2,825 2,710 1,243 3,860 432
R+ & = 14 44 19 25 7 28 | 9
HF B H oA R oM X X X X X X X
o+ % X X X X X X X
i T H 630 1,856 938 918 281 1,434 141
w K = T H 206 620 312 308 105 468 47
w K = T H 294 893 455 438 139 699 55
A OE ™ T B 367 1,230 619 611 250 906 74
w K A T H 478 1,561 775 786 258 1,177 126
B OE AN T H 548 1,816 926 890 428 1,313 75
B OE £ T H 203 517  260| = 257 94 388 35
B AE — T B 309 958 475 483 185 686 87
Bl A = T H 7207| - 2,384| 1,177| 1,177 699 | 1,594 61
(%&b HE—TH 280 687 324 363 111 443 133
ZEDAHETH 280 950 491 459 180 732 38
AEYE=TAEH 367 1,195 598 597 170 942 83
A E D EWM™TH 284 950 477 473 97 777 76
&YW HBEATEH 82 297 163 134 48 226 23
&% E — T H 159 541 273 268 98 399 44
Mmoo E — T H 196 713 346 367 186 502 25
Mo ¥ - T B 107 339 176 163 91 218 30
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1 S I HHHE | £ K 5 Lo 15 KA | 15~64%% | 658 Ll £
Mo ¥ =T H 320 1,191 593 598 342 816 33
Mo ¥ H T H X X X X X X X
Moo ¥ AKX T H X X X X X | X X
il e 1,233 4,350 | 2,207 2,143 823 3,083 444
i Ja 3,509 9,685 5,132 4,553 2,073 7,087 525
18 H F 1,108 3,497 1,739 1,758 702 2,557 238
7 S X X X X X X X
wmor \ FH O H 8 28 15 13 6 17 5
Ei] e T X X X X X X X
fiofe g BET — T H 126 457 226 231 60 377 20
e ¥ AT = T H 264 913 451 462 122 739 52
fi e FrET =T H 408 1,436 709 727 181| 1,175 80
1M BT BT M7 OH 349 1,264 618 646 172 1,021 71
d ®m — T H 84 205 112 93 42 153 10
it ® — T B 381 855 427 1428 140 667 48
i # = T H 462 989 519 470 190 760 39
d M ™ T H 182 439 231 208 91 332 16
it W A T B 35 92 45 47 20 67 5
1t # =) 115 244 132 112 42 192 10
% B oy A 171 646 330 316 109 459 78
b B 2,524 8,442 4,198 4,244 1,544 6,324 574
i3 1,512 4,894 2,419 2,475 753 3,696 445
pri} F# 5,721| 18,830 9,421 9,409 3,185| 14,342 1,303
2} 4 B 2,759 9,417 4,784 4,633 1,892 7,018 507
1 Eix G553 1,905 6,249 3,127 3,122 1,022 4,829 398
H J& 76 252 135 117 51 172 29
45 #  k H 1,575 4,078 2,091 1,987 676 3,085 317
L F »%®%—TB8H 183 571 303 268 126 411 34
X X & — T H 396 1,194 620 574 155 948 91
Xx X2 & = T H 228 705 358 347 94 562 49
X X2 A/ =T H 274 874 459 415 134 687 53 |
2 £ — T H 285 850 436 414 139 646 65
B £ — T H 131 367 180 187 72 259 36
B2 &£ = T H 479 1,358 687 671 255 1,000 103
B &£ m 7T H 226 681 358 323 102 533 46
B £ A T B 374 1,101 548 553 173 834 94
EHh#HwmE—TH 381 1,241 614 627 255 927 59
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BT T F 4 EHE | B % g 15 A | 156~645% | 65 Ll E
HbHEE__TH | 156 473 251 222 84 350 39
KPP HE=TH 477 1,441 718 723 202 1,107 132
HeEHBEMTHE 508 1,644 849 795 442 1,130 72
2 LE—TEH 214 610 306 304 69| 476 65
DK LB EZTEH 239 704 332 372 87 546 71
2K LR E=ZTEH 390 1,193 581 612 177 898 118
D L EMTE 258 813 403 410 91 647 75
S LB REATHE 317 993 477 516 127 779 87
m A T H 467 1,477 752 725 185 1,122 170
m B — T B8 415 1,321 663 658 155 1,052 114
m B = T H 421 1,304 626 678 187 998 119
ko e — T H 613 1,935 968 967 376 1,423 136
RO e = T H 1311 873 430 443 129 667 77
kB = T H 463 1,528 750 778 372 1,073 83
4 % ®W 92 299 148 151 63 212 24
i T H 293 1,030 514 516 136 833 61
wm oW = T B 319 1,109 560 549 153 886 70
P 7 B 90 238 118 120 45 186 7
BREBA— TH 173 492 237 255 95 365 32
BRERAE_-THEH 458 1,450 697 753 170 1,192 88
¥R A=Z=TE 387 | 1,312 674 638 222 1,009 81
¥R A MTH 181 587 294 293 79 461 47
B K — T H 369 1,197 603 594 161 928 108
B R = T H 407 1,303 654 649 248 966 89
¥ M — T H 409 1,047 | 476 571 295 740 12
¥ WM = T H 141 452 221 231 122 319 11
H M = T H 195 462 250 212 112 341 9
¥y M W™ T B 75 200 108 92 57 140 3
¥ 5 R Hh 885 2,302 1,125 1,177 442 1,614 246
Xy R — T B 253 709 341 368 157 516 36
¥ »r E = T B 1,340 2,385 1,147 1,238 250 1,987 148
¥ » = = 7T H 78 247 123 124 22 207 18
¥ » &£ ™. T H 277 896 424 472 114 713 69
B oW T H 107 347 166 181 74 244 29
B oI = T B 227 743 372 371 138 549 56
B’ EHE — T B 700 2,493 1,238 1,255 699 1,723 71
W% B = T H 319 1,014 500 514 256 722 36
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0T % & tEN | B K 5 o | 158K | 15~645% | 655KLL L
¥ #EHE =T B 259 865 444 421 244 - 586 35
¥ O H /| T H 903 3,339 1,677 1,662 917 2,346 76
W AT H 1,097 3,948 1,940 2,008 1,073 2,784 91
®O¥EHE KX T H 400 1,379 676 703 258 1,034 87
S R N = 333| 1,062 545 517 230 783 49




